
Question -1) Which of the following best represents the central theme of the passage?

A) The role of continuous glucose monitoring in improving athlete performance.
B) The challenges faced by Indian athletes in international competitions.
C) The importance of integrating precision nutrition in sports to avoid disqualification.
D) The impact of traditional dietary practices on athlete performance.

Question -2) Based on the passage, which of the following assumptions underlies the use of
precision nutrition for athletes?

A) Athletes universally respond to food and supplements in the same way.
B) Precision nutrition can eliminate the need for athletes to monitor their weight.
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C) Traditional methods of weight management are sufficient for modern athletes.
D) Tailored dietary recommendations can help avoid drastic weight management practices.

Question -3) Which of the following, if true, would most weaken the argument for the
adoption of precision nutrition in sports?

A) Precision nutrition has been shown to improve athlete performance in multiple studies.
B) The cost of implementing precision nutrition is prohibitive for most sports teams.
C) Athletes can achieve similar performance improvements with traditional nutrition methods.
D) Continuous glucose monitoring is already banned in competitive sports by several governing
bodies.

Question -4) What can be inferred about the use of Continuous Glucose Monitors (CGMs)
during competitions, based on the passage?

A) CGMs are encouraged for use during competitions to ensure athletes are in peak condition.
B) CGMs are universally accepted in all sports competitions worldwide.
C) The use of CGMs during competitions is considered controversial and is banned by some sports
governing bodies.
D) Athletes using CGMs during competitions have a distinct advantage over those who do not.

Question -5) Which of the following statements, if true, would most strengthen the case for
implementing precision nutrition in weight-based sports?

A) Weight-based sports have the highest incidence of disqualifications due to weight-related issues.
B) Precision nutrition has no significant impact on athletes in non-weight-based sports.
C) The majority of athletes in weight-based sports already use precision nutrition.
D) Precision nutrition is more effective at maintaining long-term health than other methods.

Question -6) According to the passage, which of the following is a potential drawback of
traditional dietary data collection methods?

A) They require too much technology.
B) They are cost-prohibitive for most athletes.
C) They rely heavily on subjective information, which may be inaccurate.
D) They provide more precise information than modern methods like CGMs.
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